RIBAE BHRIZ13—31 P1
TR 25498248
R RIEERT - KERRS

E ERERROEHMLE

FR25FIRA 24 B FRIFMOF R -AREDRRFAEZITLELLO T, BREHMoELFETS,

B8R
BROBIEIL. KE25~26°C. 15931 ~33. RFEES4~Tme/ITL =,
BAEIIS~TmT, AEICHLTERBICEELI v RIENDHIERINFEL-, SEDE

|J_J (»/I = b‘Z\g—CT

KiBEES (F1-2)
JKiBIX/KiB24.9~26.1°C. 18531%31.3~33.0TL 1=, BiIEFAEEF (H25.9.10) SLEERL T, KBIF R
BMNICIET. EEBMN2°CLA. EHIZ0~1{ETFLTULVELT =,

BERFEE(XRI)
ERNDBRFERFREIF41~72me/IT, BIEIKYER NI mg/METFLTLVELT=,

TS50 (%K4-5)
BHAEI(E47~72mTLT =,
BREBEOHR. AEEOVYINRIBRUTSF UL -TIVANRE lcell/ml, SUXRI5- LTS
MiExE3cells/mifEEREhE L=,

BOEBADKEICEIEOFLERLCIFFE, LEST=RYMRMUIZEBKERTFLT, AR
BEBEAAKEABIGETERL TS,

FE M =

\ GEls

BhiEsE N e

REFSENEESNSHEBTEE
O~NTALTR-ThiF:
10,000~ 50,000cells/ml (~L\3E)
O 7 >F I L-TILS:
100cells/mI (BEEBL D E L)
@A RUA VLTS
10cells/mI (B DK ZE1L)




P2

FrRk2559 A 24H
F£1 KEBCC) __
R AiIEIFAE (H25.9.10)
BEA | BRvs | Bow | #50 |[FEERRlagews] o TeEe0Z| s
Pafal RBFIN| o~
s
Om 26.1 26.1 26.1 25.4 26.1 27.0 A09 25.8
2m 26.0 26.0 26.1 25.3 26.0 26.9 A 09 25.7
5m 26.0 25.9 26.0 25.6 25.9 26.5 A 06 25.7
10m 25.8 25.8 25.6 25.5 25.7 25.8 A 01 -
|_B-1m 250 25.3 25.5 249 25.3 23.3 20 25.5
g2 S _
R AT EIFAE (H25.9.10)
Bama | muoq | Bon | #50 [FERERlpgmes] .o [WECOZ| WS
Pl e ikl P
&
Om 32.1 32.6 32.6 31.3 324 328 A 04 30.4
2m 32.3 32.6 32.6 31.4 32,5 3238 AO03 31.3
5m 32.4 32.6 32.6 324 325 329 A 04 32.4
10m 32,5 32.6 32.6 326 325 33.1 AO05 -
B-1m 32.4 33.0 32.7 32.5 32.7 33.3 A 06 32.5
3 j mg/1) _
" AT [E15H & (H25.9.10)
BamA | 871 | Bow | #3y |[FEERRLaggnl o [Ecoz| s
Pl e R P
&
Om 6.8 6.1 5.4 7.2 6.1 58 0.3 7.1
2m 6.5 5.8 5.3 7.2 5.8 5.7 0.1 6.9
5m 5.7 5.6 4.9 6.6 5.4 55 A 01 6.1
10m 4.9 5.3 4.9 6.0 5.1 5.4 A 04 -
B-1m 44 51 5.0 4.1 50 5.6 A 06 57
KERITA-BEOE-ASIVDFIE
£4 KR FBOAE (m)
s | BRT( | Bow | A5y [FEERE gy
KR 17.6 25.2 15.9 17.1 11.0
B 55 7.2 6.2 4.7 2.2
BT [51:%5 BA 75 9.2 11.5 7.1 3.8
£S5 TS0 (cells/ml)
el Y5F9L | 3UFRsE | FHYA | Joowersa. | TVETCOAR
EUOELl eI VI3 | woraxz | oA iy
Om 0 1 3 3 2 3
BRIA 2m 0 1 3 1 5 7
5m 0 0 0 1 0 3
Om 0 0 0 0 1 4
EDY 2m 0 0 0 0 3 1
5m 0 0 0 0 0 0
Om 0 0 0 0 0 0
v 2m 0 0 0 0 0 1
5m 0 1 1 0 1 1
N Om 1 0 0 0 1 1
RBDRE | om i 0 0 i 5 3
5m 0 0 0 0 0 0
Om 0 0 0 0 0 1
[izk= LD 2m 0 0 0 0 1 0
5m 0 0 0 0 0 0




